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1. In the circuit shown, the internal resistance of the

cell is negligible. The steady state current in the

2resistor is :-

2

3

4

2.8E = 6V

C = 0.2µF

(1) 0.6 A (2) 0.9 A (3) 1.2 A (4) 1.5 A

2. A current carrying square loop is placed near an

infinite long current carrying wire as shown in

figure. The torque acting on loop is :-

ai2i1

a a

(1) 
0 l 2µ i i a

4
(2) 

0 l 2µ i i a

2

(3) 
0 l 2µ i i

2
loge2 (4) Zero

3. The masses of three wires of copper are in the ratio

of 1 : 3 : 5 and their lengths are in the ratio

5 : 3 : 1. The ratio of their electrical resistances is:-

(1) 1 : 3 : 5 (2) 5 : 3 : 1

(3) 1 : 15 : 125 (4) 125 : 15 : 1

4. A conducting ring of mass 2 kg and radius

0.5 m placed on a smooth horizontal plane. The

ring carries a current of 4A. A horizontal magnetic

field of 10 T switch on  at time t = 0 as shown

in figure. The initial angular acceleration of ring

will be :-

B

(1) 40  rad/s2 (2) 20  rad/s2

(3) 5  rad/s2 (4) 15  rad/s2

1. 
2   :-

2

3

4

2.8E = 6V

C = 0.2µF

(1) 0.6  (2) 0.9 
(3) 1.2  (4) 1.5 

2. 
 
      :-

ai2i1

a a

(1) 
0 l 2µ i i a

4
(2) 

0 l 2µ i i a

2

(3) 
0 l 2µ i i

2
loge2 (4) 

3. 1 : 3 : 5 
5 : 3 : 1 
 :-
(1) 1 : 3 : 5 (2) 5 : 3 : 1

(3) 1 : 15 : 125 (4) 125 : 15 : 1

4. 2 kg 0.5 m 

4A 

t = 0 10 T 





B

(1) 40  rad/s2 (2) 20  rad/s2

(3) 5  rad/s2 (4) 15  rad/s2
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5. Two square metal plates A and B are of the same

thickness and material. The side of B is twice that

of A. These are connected as shown in series. If

the resistances of A and B are denoted by RA and

RB, then (RA / RB) is :-

2

BA

t

t



(1) 1/2 (2) 2/1

(3) 1/1 (4) 4/1

6. Domain formation is the necessary feature of:-

(1) Ferromagnetism

(2) Diamagnetism

(3) Paramagnetism

(4) All of these

7. The temperature (T) dependence of resistivity ()

of a semiconductor is represented by :-

(1)  

O



T

(2) 

O



T

(3) 

O



T

(4) 

O



T

8. Which of the following graphs may be best

represent the current- deflection relation is a

tangent galvanometer :-

d
c

b
a

i



O

/2

(1) a (2) b

(3) c (4) d

5.      A B  
 B  A   
 A B
    RA RB  
  (RA / RB)  :-

2

BA

t

t



(1) 1/2 (2) 2/1

(3) 1/1 (4) 4/1

6.     :-
(1) 
(2) 
(3) 
(4) 

7. () (T) 
   :-

(1)  

O



T

(2) 

O



T

(3) 

O



T

(4) 

O



T

8. 

 :-

d
c

b
a

i



O

/2

(1) a (2) b

(3) c (4) d

     
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9. Eels are able to generate current with biological

cells called electroplaques. The electroplaques in

an eel are arranged in 100 rows, each row

stretching horizontally along the body of fish

containing 5000 electroplaques. The arrangement

is suggestively shown in the figure. Each

electroplaque has an emf 0.15 V and internal

resistance of 0.25 . The water surrounding the

eel completes a circuit between the head and its

tail. If the water surrounding it has a resistance of

500 , the current an eel can produced in water is

about   :-

+ – + – + –

+ – + – + –

0.15V 0.25

5000 electroplaques 
         per row

+ – + – + –

500

100 per row

(1) 1.5 A (2) 3.0 A

(3) 15 A (4) 30 A

10. Two tangent galvanometer & having coils of the

same radius are connected in series. A current

flowing in them produces deflection of 60º and

45º respectively. This ratio of number of turns in

coils is :-

(1) 4 3 (2)  3 1 /1

(3) 
3 1

3 1




(4) 

3

1

11. A current of 2 ampere flows in a system of
conductors as shown in the following figure. The
potential difference (VA – VB) will be (in volt)  :-

2 3



2 amp C



B

A

D

(1) +2 (2) +1

(3) –1 (4) –2

9. 

(electroplaques) 

100 



5,000 



0.15 0.25  

  

   

500 , :-

+ – + – + –

+ – + – + –

0.15V 0.25

5000 electroplaques 
         per row

+ – + – + –

500

100 per row

(1) 1.5 A (2) 3.0 A

(3) 15 A (4) 30 A

10. 

 

60º  45º 

 :-

(1) 4 3 (2)  3 1 /1

(3) 
3 1

3 1




(4) 

3

1

11. 2 

 (VA – VB)  ():-

2 3



2 amp C



B

A

D

(1) +2 (2) +1

(3) –1 (4) –2
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12. The figure illustrates   

PQ

R

S

O

T

H

B

U

how B, the flux density

inside a sample of

ferromagnetic material

varies with H,

magnetising field in

which sample is kept.

For the sample to be

suitable for making a

permanent magnet :-
(1) OQ should be large, OR should be small
(2) OQ and OR should both be large
(3) OQ should be small, OR should be large
(4) OQ and OR should both be small

13. A uniform wire of resistance   

M N

20 ohm having resistance 1/m

is bent in the form of a circle

as shown in the figure. If the

equivalent resistance between

M and N is 1.8 , then the

length of the shorter section is:-
(1) 2m (2) 5m (3) 1.8 m (4) 18 m

14. If a diamagnetic solution is poured into a

U-tube and one arm of this U-tube placed between

the poles of a strong magnet with its maniscus in a

line with the field then the level of solution will:-

(1) Rise

(2) Fall

(3) Oscillate slowly

(4) Remains as such

15. In the circuit shown here the readings of the

ammeter and voltmeter are :-

(1) 6 A, 60 V

(2) 0.6 A, 6 V

(3) 6 A, 6V         V A

1

6 V

6

4
(4) 

6
A

11
, 

60
V

11

16. The length of a bar magnet is large as compared
to its width and breadth. The time period of its

oscillation in vibration magnetometer is 2 sec. The
magnet is cut along its length into three equal parts

and all three parts placed on each other with their
like poles together. The time period of this

combination will be :-
(1) 2 sec (2) 2/3 sec

(3) 2 3 sec (4) 2 / 3 sec

12. 
PQ

R

S

O

T

H

B

U

H 

  

B 





:-

(1) OQ , OR 

(2) OQ  OR  

(3) OQ , OR 

(4) OQ OR  

13. 20  

M N

 1/m 



 M N 

1.8 , 

 :-
(1) 2m (2) 5m (3) 1.8 m (4) 18 m

14. U-
   
 
 :-
(1) 
(2)  
(3)  
(4) 

15. 
 :-
(1) 6 A, 60 V

(2) 0.6 A, 6 V

(3) 6 A, 6V         V A

1

6 V

6

4
(4) 

6
A

11
, 

60
V

11

16. 
 
2 sec 


 :-
(1) 2 sec (2) 2/3 sec

(3) 2 3 sec (4) 2 / 3 sec
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17. For the circuit shown, the current must not

exceed:
10k 10k 250k

1W 0.25W 0.25W

(1) 1 mA (2) 2 mA (3) 5 mA (4) 10 mA

18. The S.I. unit of magnetic permeability :-

(1) A/m (2) A-m

(3) henry/m (4) unitless

19. The current in the resistance E1

E2

r1

r2

R

R will be zero if :

(1) E1r1 = E2r2

(2) E1r2 = E2r1

(3) (E1 + E2)r1 = E1r2

(4) (E1 + E2)r1 = E2r1

20. An -particle and a proton having same kinetic

energy enters in uniform magnetic field

perpendicularly. Let x be ratio of their magnitude

of acceleration and y be ratio of their time period

then:-

(a) x = 3/ 2

1

(2)
(b) x = 

1

4

(c) y = 2 (d) y = 4

(1) b, c (2) a, d (3) b, d (4) a, c

21. The effective resistance across the points A and

I is :-

I

E

22

2 2

2

2

2

2

2

2
C

B D

G

A H

F

(1) 2 (2) 1  (3) 0.5  (4) 10 

22. A wire Q of finite length is kept  

P
Qon the right hand side of a loop

wire P as shown. If F is the force

and  is the torque on wire Q then:-

(a) F is upward in plane of paper

(b) F is downward in plane of paper

(c)  is clockwise

(d)  is anticlockwise

(1) a,d (2) b,c (3) b,d (4) a,c

17.  


10k 10k 250k

1W 0.25W 0.25W

(1) 1 mA (2) 2 mA (3) 5 mA (4) 10 mA

18. S.I.  :-
(1) A/m (2) A-m

(3) henry/m (4) 

19. R  E1

E2

r1

r2

R




(1) E1r1 = E2r2

(2) E1r2 = E2r1

(3) (E1 + E2)r1 = E1r2

(4) (E1 + E2)r1 = E2r1

20. -     

   x 

   y  

    :-

(a) x = 3/ 2

1

(2)
(b) x = 

1

4

(c) y = 2 (d) y = 4

(1) b, c (2) a, d (3) b, d (4) a, c

21. A  I  :-

I

E

22

2 2

2

2

2

2

2

2
C

B D

G

A H

F

(1) 2 (2) 1  (3) 0.5  (4) 10 

22. Q  P 

P
Q Q 

F  :-

(a) F 

(b) F  

(c) 

(d) 
(1) a,d (2) b,c (3) b,d (4) a,c



30–03–2013

6/38 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

23. The two planets have radii r1 and r2 and their

densities 1 and 2 respectively. The ratio of

acceleration due to gravity on them will be :-

(1) r11 : r22 (2) 2
1 1r  : 2

2 2r 

(3) 2
1 1r   : 2

2 2r  (4) r12 : r21

24. A conducting loop carrying a current I is placed

in a uniform magnetic field pointing into plane

of paper as shown. The loop will have tendency

to :-
Y

X

I

B

O

(1) Contract

(2) Expand

(3) move towards + x direction

(4) move towards  –x direction

25. A planet is revolving around the sun in an

elliptical orbit. Its closest distance from the sun

is rmin, the farthest distance from the sun is rmax.

If the orbital angular velocity of the planet when

it is nearest to the sun is , then the orbital angular

velocity at the point when it is at the farthest

distance from the sun is :-

(1) 
min

max

r

r
 (2) 

max

min

r

r


(3) 

2
max

2
min

r

r
 (4)

2
min
2
max

r

r


26. A particle of mass m and charge q moves with a

constant velocity v along the +x direction. It enters

in a region containing a uniform magnetic field B

directed along the –z-direction, extending from x =

a to x = b. The minimum value of v required so that

particle can just enter in the region x > b is:-

(1)
qbB

m
(2) 

q(b a)B

m



(3) 
qaB

m
(4) 

q(b a)B

2m



23. r1 r2 
1 2  
 :-

(1) r11 : r22 (2) 2
1 1r  : 2

2 2r 

(3) 2
1 1r   : 2

2 2r  (4) r12 : r21

24.     I    

  

      :-
Y

X

I

B

O

(1) 

(2) 

(3) + x 

(4) – x 

25.    

rmin  

  rmax       

     

,      

    :-

(1) 
min

max

r

r
 (2) 

max

min

r

r


(3) 
2

m a x
2

m i n

r

r
(4)

2
min
2
max

r

r


26. m q v 

+x   –z  

B 

x = a x = b v 

x > b    :-

(1)
qbB

m
(2) 

q(b a)B

m



(3) 
qaB

m
(4) 

q(b a)B

2m



  Key Filling     
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27. The escape velocity of a body from the surface

of earth is 11.2 km/sec. It is thrown up with a

velocity 4 times this velocity of escape. The

velocity of the body when it has escaped the

gravitational pull of earth (neglecting the presence

of all other heavenly bodies) is :-

(1) 4 × 11.2 km/s (2) 3 × 11.2 km/s

(3) 15 11.2 km/s (4) Zero

28. Two long parallel wires are at a ‘2d’ distance

apart. They carrying steady and equal currents

flowing out of the plane of the paper as shown.

The variation of magnetic field B along the line

xx' is given by:-

(1) 

d d

x' x (2) 

d d

x' x

(3) 

d d

x' x  (4)

d d

x' x

29. A satellite is revolving round the earth with orbital

speed v0. If it stops suddenly the speed with which

it will strike the surface of the earth would be :

(ve = escape velocity of a particle on the earth's

surface) :-

(1) 

2
e

0

v

v
(2) v0

(3) 2 2
e 0v v (4) 2 2

e 0v 2v

30. Two particles, each of mass m and charge q are

attached to the two ends of a light rod of length

2R. The rod is rotated at constant angular speed

about a perpendicular axis passing through its

centre. The ratio of the magnitudes of magnetic

moment and angular momentum of system is:-

(1) q/2m (2) q/m

(3) 2q/m (4) q/m

27.                    

11.2 km/sec 4 



       

(     

 ) :-

(1) 4 × 11.2 km/s (2) 3 × 11.2 km/s

(3) 15 11.2 km/s (4) 

28. ‘2d’ 



xx' 

B :-

(1) 

d d

x' x (2) 

d d

x' x

(3) 

d d

x' x  (4)

d d

x' x

29. v0 



(ve = 

) :-

(1) 

2
e

0

v

v
(2) v0

(3) 2 2
e 0v v (4) 2 2

e 0v 2v

30. m q       2R

  



  

           

     :-
(1) q/2m (2) q/m

(3) 2q/m (4) q/m
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31. A planet revolves is an elliptical orbit around the

sun. The semi-major and semi-minor axes are a

and b, then the time period is given by:-

(1) T2  b3 (2) T2  

3
a b

2

 
 
 

(3) T2  a3 (4) T2  

3
a b

2

 
 
 

32. Equal current i is flowing in three infinite long

wires placed along x, y and z axes respectively.

The magnetic field at point (0, 0, –a) is :-

(1) 
0µ i ˆ ˆ( j i)

2 a



(2) 

0µ i ˆ ˆ(i j)
2 a




(3) 
0µ i ˆ ˆ(i j)

2 a



(4) 

0µ i ˆ ˆ ˆ(i j k)
2 a

 


33. A simple pendulum is taken from the equator to

the pole. Its period  :-

(1)  decreases

(2) increases

(3) remains the same

(4) decreases and then increases

34. A metallic wire is folded to form a square loop of

side a. It carries a current i and is kept perpendicular

to a uniform magnetic field B. If the shape of loop

is changed from square to circle without change in

length of wire and current. The amount of work done

by doing so, is :-

(1) iBa2( + 2) (2) iBa2( – 2)

(3) iBa2(4 – 1) (4) iBa2(1 – 4/)

35. Under the influence of the coulomb field of charge

+Q, a charge –q is moving around it in an elliptical

orbit. Find out the correct statement(s) :-

(1) The angular momentum of the charge –q is

constant

(2) The linear momentum of the charge –q is

constant

(3) The angular velocity of the charge –q is

constant

(4) The linear speed of the charge –q is constant

36. The electric potential at a point (x, y) in the

x-y plane is given by V = –kxy. The field intensity

at a distance r from the origin varies as :-

(1) r2 (2) r (3) 
1

r
(4) 2

1

r

31. 
 -a  b 
 :-

(1) T2  b3 (2) T2  

3
a b

2

 
 
 

(3) T2  a3 (4) T2  

3
a b

2

 
 
 

32. i 
x, y  z  
  (0, 0, –a)  :-

(1) 
0µ i ˆ ˆ( j i)

2 a



(2) 

0µ i ˆ ˆ(i j)
2 a




(3) 
0µ i ˆ ˆ(i j)

2 a



(4) 

0µ i ˆ ˆ ˆ(i j k)
2 a

 


33. 
  :-
(1) 
(2) 
(3) 
(4) 

34.  a  
     i    
B 
 
 
      :-
(1) iBa2( + 2) (2) iBa2( – 2)
(3) iBa2(4 – 1) (4) iBa2(1 – 4/)

35. +Q 

–q 

 :-

(1) –q   

(2) –q 

(3) –q 

(4) –q 

36. x-y     (x, y)   
V = –kxy r 
 :-

(1) r2 (2) r (3) 
1

r
(4) 2

1

r
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37. There are two metallic spheres of same radii but

one is solid and the other is hollow, then :-

(1) Solid sphere can be given more charge

(2) Hollow sphere can be given more charge

(3) They can be charged equally (maximum)

(4) None of the above

38. A charge q is placed at the centre of the open end

of cylindrical vessel. The flux of the electric field

through the surfaces of the vessel is :-

(1) Zero (2) 
0

q


(3) 

0

q

2
(4) 

0

2q



39. Two identical charges repel each other with a

force equal to 10 mg weight when they are

0.6 m apart in air. (g = 10ms–2). The value of each

charge is :-

(1) 2 mC (2) 2 × 10–7 C

(3) 2 nC (4) 2 µC

40. Four point +ve charges of same magnitude (Q)

are placed at four corners of a rigid square frame

as shown in figure. The plane of the frame is

perpendicular to Z axis. If a –ve point charge is

placed at a distance z away from the above frame

(z << L) then :-

•

Z-axis

Q

Q

L

Q

Q

(1) –ve charge oscillates along the Z-axis

(2) It moves away from the frame

(3) It moves slowly towards the frame and stays

in the plane of the frame

(4) If passes through the frame only once

41. Select incorrect statement :-

(1) There is a lower limit to the electric force

between two particles placed at a separation

of 10 cm due to quantization of charge.

(2) A gravitational force can be added to

electrostatic force to get total force on a

charged particle.

(3) The force on a charge due to another charge

does not depend on the charges present

nearby.

(4) Two equipotential surfaces can cut each other.

37. 
 :-
(1) 
(2) 
(3) 
(4) 

38. q     
      
 :-

(1)  (2) 
0

q


(3) 

0

q

2
(4) 

0

2q



39. 0.6 m 

10 mg 

 (g = 10 2)

(1) 2 mC (2) 2 × 10–7 C

(3) 2 nC (4) 2 µC

40.   (+ve) 
 (Rigid) 
Z-
(–ve) z (z << L) 
 :-

•

Z-axis

Q

Q

L

Q

Q

(1) Z-

(2) 

(3) 
 

(4) 

41. 

(1) 10 cm 





(2) 



(3)  



(4) 



30–03–2013

10/38 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

42. In quark model, a proton and a neutron consist
of three quarks each. Two types of quarks, the so

called 'up' quark (denoted by u) of charge 
2

e
3

 ,

and the 'down' quark (denoted by d) of charge

1
e

3
 , together with electrons build up ordinary

matter. A possible quark composition of a proton

and neutron is

(1) udd, udd (2) uud, udd

(3) uud, uud (4) ddd, uuu

43. A solid conducting sphere of radius a has a net

positive charge 2Q. A conducting spherical shell

of inner radius b and outer radius c is concentric

with the solid sphere and has a net charge –Q. The

surface charge density on the inner and outer

surfaces of the spherical shell will be :-

(1) 2 2

2Q Q
– ,

4 b 4 c 
 

• ba

c

(2) 2 2

Q Q
– ,

4 b 4 c 

(3) 0, 2

Q

4 c

(4) None of the above

44. If E is the electric field intensity of an electrostatic

field, then the electrostatic energy density is

proportional to :-

(1) E (2) E2 (3) 1/E2 (4) E3

45. In the electric field of a point charge q, a certain
charge is carried from point A to B, C, D and E.
Then the work done :-

C D
B E

+q

A

(1) Is least along the path AB

(2) Is least along the path AD

(3) Is zero along all the path AB, AC, AD

and AE

(4) Is least along AE

42.  



(u ) 
2

e
3

  

(d ) 
1

e
3

  

   


(1) udd, udd (2) uud, udd

(3) uud, uud (4) ddd, uuu

43. a 
2Q 
b c –Q 

  :-

(1) 2 2

2Q Q
– ,

4 b 4 c 

• ba

c
(2) 2 2

Q Q
– ,

4 b 4 c 

(3) 0, 2

Q

4 c

(4) 

44. E 
   :-

(1) E (2) E2 (3) 1/E2 (4) E3

45. q 
A B, C, D E  
 :-

C D
B E

+q

A

(1) AB 

(2) AD 

(3) AB, AC, AD AE  

(4) AE 

Use stop, look and go method in reading the question



H 11/38

30–03–2013

MAJOR TEST

PRE-MEDICAL : LEADER COURSE (MLP, MLQ, MLR, MLS)

Your Target is to secure Good Rank in Pre-Medical 2013

46. CH3CH2CHO and CH3COCH3 can be distinguished

by :-

(1) FeCl3 (2) Tollen's reagent

(3) NaHSO4 (4) 2,4-DNP

47. Which of the following has highest boiling point:-

(1) CH3CH2CH2CHO

(2) CH3CH2CH2CH2OH

(3) C2H5OC2H5

(4) CH3CH2CH2CH3

48. Arrange the following carbanions in decreasing

order of stability :-

CH =CH2

(P)
   Ph–CH2

(Q)
  CH =CH–CH2 2

(R)
   

(S)

(1) P > Q > R > S (2) S > Q > P > R

(3) S > Q > R > P (4) Q > S > R > P

49. Reduction of nitrobenzene with zinc and

ammonium chloride gives :–

(1) Azobenzene

(2) Aniline

(3) Hydrazobenzene

(4) N–phenylhydroxyl amine

50. C CH 2 6

2 2

B H

H O ,O H


Θ X 3 2

2

CH NH

H ,Ni,
Y

The final product (Y) is :-

(1) Ph N

H

(2) 
Ph

N

H

(3) 
Ph N

(4) 
Ph

N

51. Compound 'A' (molecular formula (C3H8O) is

treated with acidified potassium dichromate to

form a product 'B' (molecular formula C3H6O). B

forms a shining silver mirror on warming with

ammonical silver nitrate. B when treated with

H2NCONHNH2 gives a product 'C'.  Identify the

structure of 'C' :-

(1) CH3CH2CH = NNHCONH2

(2) CH –C=NNHCONH3 2

CH3

(3) CH –C=NCONHNH3 2

CH3

(4) CH3CH2CH=NCONHNH2

46. CH3CH2CHO  CH3COCH3 
 :-
(1) FeCl3 (2) 
(3) NaHSO4 (4) 2,4-DNP

47.    :-
(1) CH3CH2CH2CHO

(2) CH3CH2CH2CH2OH

(3) C2H5OC2H5

(4) CH3CH2CH2CH3

48.   
 :-

CH =CH2

(P)
   Ph–CH2

(Q)
  CH =CH–CH2 2

(R)
   

(S)

(1) P > Q > R > S (2) S > Q > P > R

(3) S > Q > R > P (4) Q > S > R > P

49. 
 
(1) 
(2) 
(3) 
(4) N–

50. C CH 2 6

2 2

B H

H O ,O H


Θ X 3 2

2

CH NH

H ,Ni,
Y

(Y)  :-

(1) Ph N

H

(2) 
Ph

N

H

(3) 
Ph N

(4) 
Ph

N

51. A (C3H8O) 
B B (C3H6O)


B 
H2NCONHNH2 'C'  
C   :-
(1) CH3CH2CH = NNHCONH2

(2) CH –C=NNHCONH3 2

CH3

(3) CH –C=NCONHNH3 2

CH3

(4) CH3CH2CH=NCONHNH2
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52. Among the following the strongest acid is :-

(1) CH –NH33


(2) C H –NH6 5 3



(3) H N–C–NH2 2

NH2



(4)O N2 NH3



53. The order of reactivity of following alcohols

towards HCl is :-

OHF F
OH

(I) (II)

OH Ph OH

(III) (IV)

(1) I > II > III > IV (2) I > III > II > IV

(3) IV > III > II > I (4) IV > III > I > II

54. The reaction of HBr with the following compound

would produce :-

OH

(1) 
OH

Br

(2)
OH

Br

(3)
Br

Br

(4) 
Br

Br

55. In a SN2 substitution reaction of the type

R – Br + Cl– DMF
R –Cl +Br–, which one of

the following has the highest relative rate ?

(1) CH3–C – CH Br2

CH3

CH3

(2) CH3CH2Br

(3) CH3–CH2–CH2Br (4) CH3–CH – CH Br2

CH3

52.  :-

(1) CH –NH33


(2) C H –NH6 5 3



(3) H N–C–NH2 2

NH2



(4)O N2 NH3



53. HCl 
 

OHF F
OH

(I) (II)

OH Ph OH

(III) (IV)

(1) I > II > III > IV (2) I > III > II > IV

(3) IV > III > II > I (4) IV > III > I > II

54. HBr   :-

OH

(1) 
OH

Br

(2)
OH

Br

(3)
Br

Br

(4) 
Br

Br

55.  SN2 
R – Br + Cl– DMF

R –Cl +Br–

 

(1) CH3–C – CH Br2

CH3

CH3

(2) CH3CH2Br

(3) CH3–CH2–CH2Br (4) CH3–CH – CH Br2

CH3
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56. Which of the following ketones can not be formed

by hydration of suitable alkyne –

(1) Propanone (2) 2–Butanone

(3) 2–Pentanone (4) Benzophenone

57. The bond dissociation energy of C–H bond for the

compound

H C–H3

(P)

H C–CH –H3 2

(Q)

H C=CH–CH –H2 2

(R)

H

(S)
decreasing in the order :-

(1) P > Q > R > S (2) S > R > Q > P

(3) S > P > Q > R (4) Q > P > S > R

58. The function of AlCl3 in friedel craft's reaction

is :-

(1) To absorb water

(2) To absorb HCl

(3) To produce electrophile

(4) To produce nucleophile

59. Consider the following reactions

 

NO2

Br /FeBr2 3 P
H , Ni2 Q

NaNO  + HCl
0°–5°C

2 R
CuCl

S

The end product 'S' is :-

(1)

Cl

Br

(2) 

Cl

Br

(3) 

Br

N Cl2

(4) 

Br

NO2

60. Which of the following compounds undergoes

nitration at fastest rate ?

(1) (2) 
N

H

(3)
N

H

O (4) 
N–H

56. 
 –

(1)  (2) 2–
(3) 2– (4) 

57. C–H 
 

H C–H3

(P)

H C–CH –H3 2

(Q)

H C=CH–CH –H2 2

(R)

H

(S)

(1) P > Q > R > S (2) S > R > Q > P

(3) S > P > Q > R (4) Q > P > S > R

58.   AlCl3   
 :-
(1) 
(2) HCl 
(3)  
(4) 

59. S

 

NO2

Br /FeBr2 3 P
H , Ni2 Q

NaNO  + HCl
0°–5°C

2 R
CuCl

S

(1)

Cl

Br

(2) 

Cl

Br

(3) 

Br

N Cl2

(4) 

Br

NO2

60.     


(1) (2) 
N

H

(3)
N

H

O (4) 
N–H
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61. OH + CO2

(i) NaOH, 

(ii) H


 X

(CH CO) O3 2

Y

Correct statement for X & Y is :-

(1) X can also be obtained by reacting phenol with

CHCl
3
 in KOH

(2) X can be used in identification of methanol

(3) Y is used as analgesic

(4) 2 & 3 both

62. The general formula for alkenynyl series :-

(1) C
n
H

2n–3
(2) C

n
H

2n–4

(3) C
n
H

2n–5
(4) C

n
H

2n–2

63. Which of the following donot give R–H with

R–MgCl :-

(1) NH
3

(2) CH
3
OH

(3) ClNH
2

(4) HCOOH

64. An organic compound on analysis gave

C = 54.5%, H = 9.1% by mass. It's empirical

formula is :

(1) CHO
2

(2) CH
2
O

(3) C
2
H

4
O (4) C

3
H

4
O

65. What is configuration of the given compound

(1) R

H

HO

H O

CH OH2

(2) S

(3) D

(4) 1 & 3 both

66. In a set of reactions m-bromobenzoic acid gave

a product D. Identify the product D

COOH

Br
A

SOCl2 B
NH3 NaOH

C DBr2

(1) 
SO NH2 2

Br

(2) 
COOH

NH2

(3) 
NH2

Br

(4) 
CONH2

Br

61. OH + CO2

(i) NaOH, 

(ii) H


 X

(CH CO) O3 2

Y

X Y   :-
(1) X CHCl

3
/KOH 


(2) X 
(3) Y  
(4) 2  3 

62.  :-
(1) C

n
H

2n–3
(2) C

n
H

2n–4

(3) C
n
H

2n–5
(4) C

n
H

2n–2

63.  R–Mg–Cl R–H  
  :-
(1) NH

3
(2) CH

3
OH

(3) ClNH
2

(4) HCOOH

64. C = 54.5%,

H = 9.1%    
 -
(1) CHO

2
(2) CH

2
O

(3) C
2
H

4
O (4) C

3
H

4
O

65.   

(1) R

H

HO

H O

CH OH2

(2) S

(3) D

(4) 1 & 3 both

66. m-
D D 

COOH

Br
A

SOCl2 B
NH3 NaOH

C DBr2

(1) 
SO NH2 2

Br

(2) 
COOH

NH2

(3) 
NH2

Br

(4) 
CONH2

Br

Take it Easy and Make it Easy
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67. Which of the following conformers for ethylene

glycol is most stable :-

(1) 

OH

HH H
H

OH

(2) 

OH

HH H
HO

H

(3) 

OH

HH
H

H

OH

(4) 

OH

HH

HH

OH

68. Which one is most reactive towards SN
1

reaction?

(1) C6H5CH2Br

(2) C6H5CH(C6H5)Br

(3) C6H5CH(CH3)Br

(4) C6H5C(CH3)(C6H5)Br

69. Which one of the following is most reactive

towards electrophilic attack ?

(1) 

OH

(2) 

Cl

(3) 

CH OH2

(4) 

NO2

70. In a reaction of aniline a coloured product C was

obtained.

NH2
NaNO2

HCl
B

Cold

N
CH3

CH3

C

 A

The structure C would be :

(1) 
NH–NH N

CH3

CH3

(2) N=N
CH3

CH3

N

(3) N=N–CH –N2

–

CH3

(4) N=N

CH3 CH3

67. 
 :-

(1) 

OH

HH H
H

OH

(2) 

OH

HH H
HO

H

(3) 

OH

HH
H

H

OH

(4) 

OH

HH

HH

OH

68. SN
1 


(1) C6H5CH2Br

(2) C6H5CH(C6H5)Br

(3) C6H5CH(CH3)Br

(4) C6H5C(CH3)(C6H5)Br

69. 


(1) 

OH

(2) 

Cl

(3) 

CH OH2

(4) 

NO2

70. C 

 
NH2

NaNO2

HCl
B

Cold

N
CH3

CH3

C

C  

(1) 
NH–NH N

CH3

CH3

(2) N=N
CH3

CH3

N

(3) N=N–CH –N2

–

CH3

(4) N=N

CH3 CH3
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71. IUPAC Names of some compounds are given.

Which one is incorrect –

(1) CH –CH –CH –CH–CH–CH CH3 2 2 2 3

CH3–

–

CH CH2 3

3–Methyl–4–ethyl–heptane

(2) CH –CH–CH–CH3 3–

3–Methyl–2–butanol
OH CH3

–

(3) CH  – CH  – C – CH – CH3 2 3

CH2CH3

–– –

2–Ethyl–3–methyl–but–1–ene

(4) CH3–CC–CH(CH3)2

4–Methyl–2–pentyne

72. Reaction of HBr with propene in the presence of

peroxide gives :-

(1) 3–bromo propane

(2) Allyl bromide

(3) n–propyl bromide

(4) Isopropyl bromide

73. When CH3CH2CHCl2 is treated with NaNH2, the

product formed is :–

(1) CH3 – CH = CH2

(2) CH3 – C CH

(3) CH3CH2CH

NH2

NH2

(4) CH3CH2CH

Cl

NH2

74. Intermediates formed during reaction of RCNH2

O

with Br
2
 and KOH are :–

(1) RCONHBr and RNCO

(2) RNHCOBr and RNCO

(3) RNH – Br and RCONHBr

(4) RCONBr
2

71. IUPAC 
 –

(1) CH –CH –CH –CH–CH–CH CH3 2 2 2 3

CH3–

–

CH CH2 3

3– –4– 

(2) CH –CH–CH–CH3 3–

3– –2– 
OH CH3

–

(3) CH  – CH  – C – CH – CH3 2 3

CH2CH3

–– –

2– –3– – –1–   

(4) CH3–CC–CH(CH3)2

4––2–
72.  HBr 

  :-
(1) 3–
(2) 
(3) n–
(4) 

73. CH3CH2CHCl2 NaNH2 
 :–
(1) CH3 – CH = CH2

(2) CH3 – C CH

(3) CH3CH2CH

NH2

NH2

(4) CH3CH2CH

Cl

NH2

74. RCNH2

O

 Br
2
   



(1) RCONHBr  RNCO

(2) RNHCOBr  RNCO

(3) RNH – Br  RCONHBr

(4) RCONBr
2

         
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75. Ethylene oxide when treated with Grignard

reagent yields :-

(1) Secondary alcohol

(2) Tertiary alcohol

(3) Cyclopropyl alcohol

(4) Primary alcohol

76. Consider the carboxylic acids-

(i) PhCOOH

(ii) o–NO
2
C

6
H

4
COOH

(iii) p-NO
2
C

6
H

4
COOH

(iv) m-NO
2
C

6
H

4
COOH

which of the following is the correct order of

acidic strength

(1) i > ii > iii > iv (2) ii > iv > iii > i

(3) ii > iv > i > iii (4) ii > iii > iv > i

77. Consider the following compounds :

(i) C
6
H

5
COCl

(ii) O N2 COCl

(iii) H C3 COCl

(iv) OHC COCl

The correct decreasing order of their reactivity

towards hydrolysis is :

(1) (ii) > (iv) > (i) > (iii)

(2) (ii) > (iv) > (iii) > (i)

(3) (i) > (ii) > (iii) > (iv)

(4) (iv) > (ii) > (i) > (iii)

78. Predict the product C obtained in the following

reaction of butyne–1 :

CH
3
–CH

2
–CCH + HCl  B 

HIC

(1) CH CH –C–CH3 2 3

Cl

I

(2) CH –CH–CH CH I3 2 2

Cl

(3) CH –CH –CH –C–H3 2 2

Cl

I

(4) CH –CH –CH–CH Cl3 2 2

I

75. 
 :-
(1) 
(2) 
(3) 
(4) 

76. -
(i) PhCOOH

(ii) o–NO
2
C

6
H

4
COOH

(iii) p-NO
2
C

6
H

4
COOH

(iv) m-NO
2
C

6
H

4
COOH



(1) i > ii > iii > iv (2) ii > iv > iii > i

(3) ii > iv > i > iii (4) ii > iii > iv > i

77.  
(i) C

6
H

5
COCl

(ii) O N2 COCl

(iii) H C3 COCl

(iv) OHC COCl


 
(1) (ii) > (iv) > (i) > (iii)

(2) (ii) > (iv) > (iii) > (i)

(3) (i) > (ii) > (iii) > (iv)

(4) (iv) > (ii) > (i) > (iii)

78. -1 C 


CH
3
–CH

2
–CCH + HCl  B 

HIC

(1) CH CH –C–CH3 2 3

Cl

I

(2) CH –CH–CH CH I3 2 2

Cl

(3) CH –CH –CH –C–H3 2 2

Cl

I

(4) CH –CH –CH–CH Cl3 2 2

I
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79. Which of the following is not chiral :-

(1) 2–Butanol

(2) 2,3–Dibromopentane

(3) 3–Bromopentane

(4) 2–Hydroxypropanoic acid

80. A carbonyl compound reacts with hydrogen

cyanide to form cyanohydrin which on hydrolysis

forms a racemic mixture of –hydroxy acid. The

carbonyl compound is:-

(1) Acetaldehyde

(2) Acetone

(3) diethyl ketone

(4) Formaldehyde

81. Which of the following will not form a yellow

precipitate on heating with an alkaline solution of

iodine :-

(1)CH
3
CH

2
CH(OH)CH

3

(2) CH
3
OH

(3)CH
3
CH

2
OH

(4) CH
3
CH(OH)CH

3

82. The final product C, obtained in this reaction, would

be

CH3

NH2

 2Ac O  A 2

3

Br

CH COOH
  B 2H O

H  C

(1) 

CH3

NH2

COCH3
(2) 

CH3

COCH3

Br

(3) 

CH3

NH2

Br
(4) 

CH3

NHCOCH3

Br

83. Phenol 
Zn dust  X 3

3

CH Cl

AlCl
  Y 

4

Alkaline

KMnO
 Z

Final product is :-

(1) Benzene

(2) Toluene

(3) Benzaldehyde

(4) Benzoic acid

79. :-
(1) 2–
(2) 2,3–
(3) 3–
(4) 2–

80. 
–

   
 :-
(1) 
(2) 
(3) 
(4) 

81.  
        
 :-
(1)CH

3
CH

2
CH(OH)CH

3

(2) CH
3
OH

(3)CH
3
CH

2
OH

(4) CH
3
CH(OH)CH

3

82.  :

CH3

NH2

 2Ac O  A 2

3

Br

CH COOH
  B 2H O

H  C

 C  :-

(1) 

CH3

NH2

COCH3
(2) 

CH3

COCH3

Br

(3) 

CH3

NH2

Br
(4) 

CH3

NHCOCH3

Br

83.  Zn dust  X 3

3

CH Cl

AlCl
  Y 

4

Alkaline

KMnO
 Z

 :-
(1) 
(2) 
(3) 
(4) 

      
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84.

O

CH –C–OCH2 3

O

 4NaBH  X ; X can be :-

(1) 

OH

CH –CH –OH2 2

(2) 

O

CH –CH –OH2 2

(3) 

O

CH –OH2

(4) 

OH

CH –C–OCH2 3

O

85. Which of the following can show geometrical

isomerism :-

(1) CH–Cl  (2) CH–ClCl

(3) CH–Cl

Cl

(4) CH2

Cl

86.
OC H2 5

 HBr  X + Y

X reacts with Y in presence of AlBr
3
 to give Z;

Z is :-

(1)  
OC H2 5

(2)   

OH

C H2 5

(3) 

OH

C H2 5

(4)  

Br

C H2 5

84.

O

CH –C–OCH2 3

O

 4NaBH  X ; X  :-

(1) 

OH

CH –CH –OH2 2

(2) 

O

CH –CH –OH2 2

(3) 

O

CH –OH2

(4) 

OH

CH –C–OCH2 3

O

85.  :-

(1) CH–Cl  (2) CH–ClCl

(3) CH–Cl

Cl

(4) CH2

Cl

86.
OC H2 5

 HBr  X + Y

AlBr
3
 X , Y Z 

Z   :-

(1)  
OC H2 5

(2)   

OH

C H2 5

(3) 

OH

C H2 5

(4)  

Br

C H2 5



30–03–2013

20/38 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

87.

CH3

NO2

 2 2

3

CrO Cl

H OX 
OH /


Y + Z ;

 Y & Z is:-

(1)  

COO

NO2

   +     

OH

NO2

(2)  

COO

NO2

  +     

CH –O2

NO2

(3)  

COO

NO2

  +     

CH –OH2

NO2

(4)  

COOH

NO2

  +    

O

NO2

88. CH –CH –CH–CH3 2 3

Br

 alc. KOH X (Major) Ozonolysis Y

Incorrect statement for Y is :-

(1) Y shows aldol condensation

(2) Y shows iodoform reaction

(3) Y can be obtained by readucing CH
3
COCl

using Pd/H
2

(4) Y can be formed by using stephen's reaction

89. Which is most reactive for nucleophilic addition

reaction :-

(1) 
C

O

H (2) 
C

O

CH3

(3) CH –CH –C–H3 2

O

(4) 
C

O

CH3CH3

90. Chloroform and aniline can be separated

by :-

(1) Sublimation (2) Crystallisation

(3) Distillation (4) Chromatography

87.

CH3

NO2

 2 2

3

CrO Cl

H O  X 
OH /


Y + Z ;

Y  Z  :-

(1)  

COO

NO2

   +     

OH

NO2

(2)  

COO

NO2

  +     

CH –O2

NO2

(3)  

COO

NO2

  +     

CH –OH2

NO2

(4)  

COOH

NO2

  +    

O

NO2

88. CH –CH –CH–CH3 2 3

Br

 alc. KOHX (Major) Ozonolysis Y

Y   :-
(1) Y 
(2) Y 
(3) Y CH

3
COCl Pd/H

2 


 
(4) Y 

89. 
  :-

(1) 
C

O

H (2) 
C

O

CH3

(3) CH –CH –C–H3 2

O

(4) 
C

O

CH3CH3

90. 
 :-
(1) (2) 
(3)  (4) 
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91. In Angiosperms, functional megaspore

develops into :-

(1) Embryo (2) Endosperm

(3) Embryo sac (4) Ovule

92. Mutations that alter nucleotide sequence within

a gene is :-

(1) Frame shift mutation (2) Base pair mutation

(3) Both (1) and (2) (4) None of these

93. Nucellar polyembryony is reported in species of:-

(1) Citrus (2) Mango

(3) Both (1) & (2) (4) Brassica

94. Unit of evolution is :-

(1) Population (2) Natural selection

(3) Adaptation (4) Competition

95. Which of following is correct :-

A. Filiform apparatus brings about opening of

the pollen tube.

B. Pollen exine is resistant to enzyme action.

C. Male gametes in angiosperms are formed

by the division of vegetative cell.

D. Treatment of seed at low temperature under

moist condition to break its dormancy is

called scarification.

(1) Only B (2) B & D (3) B & C (4) B & A

96. Which of the following are not analogous

organs :-

(1) Fins of fishes and flippers of whales

(2) Stings of honey bee and sting of scorpion

(3) Thorn of bougainvillea and tendril of cucurbita

(4) Wings of insects and wings of birds

97. Match the followings :-

i. Ovule where the A. Orthotropous

embryo sac becomes ovule

horse shoe shaped

and the funiclas

& micropyle are

close to each other

ii. Inverted ovule B. Campylotropous

ovule

iii. Straight ovule C. Amphitropous

ovule

iv. Micropyle & D. Anatropous

chalaza are not in ovule

straight line

(1) (i)–C , (ii)–D, (iii)–A, (iv)–B

(2) (i)–D , (ii)–A, (iii)–B, (iv)–C

(3) (i)–C , (ii)–A, (iii)–D, (iv)–B

(4) All of the above

91. 
:-
(1)  (2) 
(3)  (4) 

92. 
:-
(1)  (2) 
(3) (1)  (2)  (4) 

93.  :-
(1) Citrus (2) 
(3) (1)  (2) (4) 

94. :-
(1)  (2) 
(3)  (4) 

95. :-
A. 
B.   


C.   


D. 
   
(Scarification)  

(1) B (2) B D (3) B C (4) B A
96. :-

(1)   (Flippers)

(2) 

(3) 

(4) 
97. :-

i.  A. Orthotropous

 





ii.  B. Campylotropous


iii.  C. Ambhitropous


iv.  D. Anatropous

 


(1) (i)–C , (ii)–D, (iii)–A, (iv)–B

(2) (i)–D , (ii)–A, (iii)–B, (iv)–C

(3) (i)–C , (ii)–A, (iii)–D, (iv)–B

(4) 
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98. Which one of the following is incorrect about

the characteristics of protobionts (coacervates

and microspheres) as envisaged in the

abiogenic origin of life ?

(1) They were partially isolated from the

surroundings

(2) They could maintain an internal

environment

(3) They were able to reproduce

(4) They could separate combinations of

molecules from the surroundings

99. The aleurone layer in maize grain is specially

rich in and its ploidy is respectively :-

(1) Protein, 3n (2) Protein, 2n

(3) Starch, 3n (4) Lipids, 3n

100. Praying mantis is a good example of :-

(1) Mullerian mimicry

(2) Warning colouration

(3) Social insect

(4) Camouflage

101. Which of following event not involved in post

fertilisation events.

(1) Endosperm & Embryo development

(2) Maturation of ovule into seed

(3) Maturation of ovary into fruit

(4) Degeneration of nucellus

102. Cri-du-chat syndrome in humans is caused by

the :-

(1) Fertilization of an XX egg by a normal

Y-bearing sperm

(2) Loss of half of the short arm of chromosome 5

(3) Loss of half of the long arm of chromosome 5

(4) Trisomy of 21st chromosome

103. Which of following is not associated with

tapetum.

(1) Nourishment of megaspores

(2) Dense cytoplasm

(3) Multinucleate

(4) Large nucleus

104. Short-legged variety of sheep is an example of

(1) Recessive germinal mutation

(2) Dominant germinal mutation

(3) Recessive somatic mutation

(4) Dominant somatic mutation

98. 


 ?

(1) 

(2) 



(3) 

(4) 

99. 
:-
(1) , 3n (2) , 2n

(3) , 3n (4) , 3n

100. 
:-
(1) 
(2) 
(3) 
(4) 

101. 

(1) 
(2) 
(3) 
(4) 

102.      
 :-

(1) XX Y-

(2) 5 

(3) 5

(4) 21 
103. 

(1) 

(2) 

(3) 

(4) 
104. 

(1) 
(2) 
(3) 
(4) 

   
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105. In following diagram A, B, C, D, E, F, G

represents :-

A

B

(1)A–Pericarp E–Plumule

B–Endosperm F–Radicle

C–Scutellum G–Coleorhiza

D–Coleoptile

(2)A–Endosperm E–Radicle

B–Pericarp F–Plumule

C–Coleoptile G–Coleorhiza

D–Scutellum

(3)A–Coleoptile E–Seutellum

B–Plumule F–Endosperm

C–Radicle G–Pericarp

D–Coleorhiza

(4) None of these

106. Which one is the closest modern day ape to

human :-

(1) Dryopithecus

(2) Ramapithecus

(3) Australopithecus

(4) Chimpanze

107. Which of following statements are correct ?

(1) The body of ovule fuses with funicle in the

region called chalaza

(2) Polar nuclei are situated in the central cell

above the egg appratus.

(3) Cliestogamous flowers are invariably

autogamous

(4) Pollen tube releases the two male gametes

in to cytoplasm of egg cell

108. Life was originated around :-

(1) 8 billion years ago

(2) 6 billion years ago

(3) 4 billion years ago

(4) 1 billion year ago

105.  A, B, C, D, E, F, G 
:-

A

B

(1)A– E–
B– F–
C– G–
D–

(2)A– E–
B– F–
C– G–
D–

(3)A– E–
B– F–
C– G–
D–

(4) 
106.   

 :-

(1) 
(2) 
(3) 
(4) 

107. 
(1) 


(2) 


(3)  (Cliestogamous) 


(4) 


108. ?
(1) 8 
(2) 6 
(3) 4 
(4) 1 



30–03–2013

24/38 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

109. In mature seed how much amount of moisture

present :-

(1) 5-10 percent (2) 10-15 percent

(3) 15-20 percent (4) 20-25 percent

110. Evolutionary history of a group of organisms

is called as :-

(1) Ontogeny (2) Phylogeny

(3) Taxonomy (4) Systematics

111. In which of following plants flower rewards

safe places to lay eggs ?

(1) Yucca (2) Amorphophallus

(3) Aristolochia (4) Both (1) & (2)

112. Who published the book "Origin of species by

means of natural selection" in 1859 :-

(1) Lamarck (2) Darwin

(3) Wallace (4) Oparin

113. How many of following statements are not

incorrect ?

A. In over 60 percent of angiosperms, pollen

grains are shed at 2 celled stage.

B. Each cell of sporogenous tissue is a

potential pollen or microspore mother cell.

C. A multicarpellary apocarpous gynoecium is

present in michelia.

D. Poll ination by water is quite rare in

flowering plants is limited to about 30

genera mostly dicotyledons.

E. Chasmogamous flowers produce assured

seed-set even in absence of pollinators.

(1) Three (2) Two

(3) Four (4) One

114. Which one is a close relative of human :-

(1) Gorilla (2) Gibbon

(3) Spider monkey (4) Baboon

115. How many of followings plants in given list

have albuminous seeds ?

Pea, Wheat, Maize, groundnut, Beans, Barley,

Castor, Sunflower, Coconut

(1) Four (2) Six

(3) Five (4) Three

116. Some bacteria are able to grow in streptomycin

containing medium due to :-

(1) R-plasmid

(2) Induced mutation

(3) Reproductive isolation

(4) Genetic drift

109.    
 :-
(1) 5-10 percent (2) 10-15 percent

(3) 15-20 percent (4) 20-25 percent

110. :-
(1)  (2) 

(3)  (4) 

111. 

(1)  (2) 
(3)  (4) (1)  (2)

112. "
" 1859  :-
(1)  (2) 
(3)  (4) 

113. 
A. 60% 



B.  



C.   



D. 

30 

E. 



(1)  (2) 

(3)  (4) 
114.  :-

(1)  (2) 
(3)  (4) 

115.  




(1)  (2) 

(3)  (4) 

116. 

:-
(1) R-
(2) 
(3) 
(4) 



H 25/38

30–03–2013

MAJOR TEST

PRE-MEDICAL : LEADER COURSE (MLP, MLQ, MLR, MLS)

Your Target is to secure Good Rank in Pre-Medical 2013

117. Which of following is correct about lupine &

date palm respectively :-

(1) Seeds excavated from Arctic Tundra (Dormancy

2000 years) : Seeds excavated from king

Herod's palace (Dormancy 10,000 years)

(2) Seeds excavated from Arctic Tundra (Dormany

10,000 years) : Seed excavated from king

Herod's palace (Dormancy 2000 years)

(3) Seeds excavated from king Herod's palace

(Dormancy 2000 years) : Seeds excavated

from Arctic Tunder (Dormancy 10,000 years)

(4) None of above
118. Thallessemia is an example of :-

(1) Natural selection
(2) Fram shift mutation
(3) Genetically modified organism

(4) Hemoglobin

119. If both blastomeres are seperated after first

cleavage in zygote, then each blastomere
develops a complete embryo and twins are

formed. This type of cleavage is called :-
(1) Determinate cleavage

(2) Indeterminate cleavage
(3) Biradial cleavage

(4) Radial cleavage
120. p2 + 2pq + q2  1 indicates :-

(1) Genetic disturbance
(2) Evolutionary change

(3) Hardy-Weinberg disturbance
(4) All of the above

121. Mainly which type of hormones control the
menstrual cycle in human being :-

(1) Progesterone
(2) FSH

(3) FSH, Estrogen, LH, Progesterone
(4) LH

122. Match the column–I and Column–II :-

Column-II

(A) Wallace (i) Survival of fittest

(B) Spencer (ii) Modern synthetic 
theory

(C) Dobzhansky (iii) Philosophie 

zoologique

(D) Lamark (iv) Natural selection

Column-I

Choose the correct match :-
(1) A-i, B-iv, C-ii, D-iii
(2) A-ii, B-i, C-iii, D-iv
(3) A-iv, B-i, C-ii, D-iii
(4) A-iv, B-i, C-iii, D-ii

117. 
(1)      

(2000 ) : 
(10,000 )

(2)      
(10,000 ) :  
(2000 )

(3)    
(2000 ) : 
 (10,000  )

(4) 
118. :-

(1) 
(2) 
(3) 
(4) 

119. 


 :-
(1)  
(2) 
(3)  
(4) 

120. p2 + 2pq + q2  1  :-
(1) 
(2) 
(3) 
(4) 

121. 
:-
(1) Progesterone
(2) FSH
(3) FSH, Estrogen, LH, Progesterone

(4) LH

122. –I –II :-

dkWye-II

(A) okysl (i) ;ksX;re dh mÙkjthfork

(B) Lisalj (ii) vk/kqfud la'ys"k.kkRed 

fl)kUr
(C) MksCtusLdh (iii) fQykslksQh twyksftd

(D) ykekdZ (iv) izkdf̀rd oj.k

dkWye-I

:-
(1) A-i, B-iv, C-ii, D-iii
(2) A-ii, B-i, C-iii, D-iv
(3) A-iv, B-i, C-ii, D-iii

(4) A-iv, B-i, C-iii, D-ii
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123. Hypothalamus

Anterior pituitary

GnRH

A

FSH/LH

Estrogen
&

Progesterone

B

Find out 'A' and 'B' respectively :-

(1) Ovary and Uterus

(2) Uterus and Ovary

(3) Oviduct and Ovary

(4) Seminal vesicle and Uterus

124. In the sense of determination evolution is :-

(1) adirectlonless process

(2) a gradual process

(3) stochastic process

(4) Both (2) and (3)

125. Meiotic-I division during oogenesis occurs in:-

(1) Primary oocyte

(2) I polar body

(3) Secondary oocyte

(4) II polar body

126. Evolution could possible due to :-

(1) Natural selection

(2) Genetic drift

(3) Both (1) and (2)

(4) This is a conjectured story

127. Correct order of spermatogenesis is :-

(1) Spermatidspermatogonia  spermatocytes

 spermatozoa

(2)Spermatogonia  primary spermatocyte 

secondary spermatocyte    spermatid

 spermatozoa

(3) Primary spermatocyte  spermatogonia 

secondary spermatocytes  spermatozoa

 spermatid

(4) Spermatogonia  Secondary spermatocyte

 primary spermatocyte  spermatid

 spermatozoa

123. Hypothalamus

Anterior pituitary

GnRH

A

FSH/LH

Estrogen
&

Progesterone

B

Find out 'A' and 'B' respectively :-

(1) Ovary and Uterus

(2) Uterus and Ovary

(3) Oviduct and Ovary

(4) Seminal vesicle and Uterus

124. :-
(1) 
(2) 
(3) 
(4) (2) (3) 

125. -I :-
(1) Primary oocyte

(2) I polar body

(3) Secondary oocyte

(4) II polar body

126. :-
(1) 
(2) 
(3) (1)  (2) 
(4) 

127. :-
(1) Spermatidspermatogonia  spermatocytes

 spermatozoa

(2)Spermatogonia  primary spermatocyte 

secondary spermatocyte    spermatid

 spermatozoa

(3) Primary spermatocyte  spermatogonia 

secondary spermatocytes  spermatozoa

 spermatid

(4) Spermatogonia  Secondary spermatocyte

 primary spermatocyte  spermatid

 spermatozoa
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128. The factors which are known to affect

Hardy-Weinberg equilibrium :-

(1) Gene migration

(2) Genetic drift

(3) Mutation

(4) All of the above

129. During which stage of spermatogenesis

meiosis occurs ?

(1) Maturation phase

(2) Growth phase

(3) Both 1 and 2

(4) Multiplication phase

130. Turtles, lizards ;  snakes and tuataras are

evolved from :-

(1) Thecodonts (2) Sauropsida

(3) Synapsides (4) Pelycosaurs

131. Non identical twins will be produced when :-

(1) One spermatozoan fertilizes two ova.

(2) One ovum is fertilized by two spermatozoa

(3) Two eggs are fertilized.

(4) One fert ilized egg divides into two

blastomers and they become separate

132. Read the following four (A-D) statements :

(A) When migration of a section of population

to another place and population occurs,

gene frequencies changes

(B) If loss of gene migration happens multiple

times there would be a gene flow

(C) If loss of gene from a population occurs

by chance it is called as genetic drift

(D) Natural selection is a process in which

heritable variations enabling better survival

are enabled to reproduce greater number of

progeny.

How many of the above statements are true:-

(1) Two (2) One (3) Four (4) Three

133. Which set of structures is endodermal in

origin?

(1) Thyroid, parathyroid and thymus

(2) Brain, liver and gills

(3) Spinal cord, epidermis and heart

(4) Brain, retina and eye

128. :-

(1) 

(2) 

(3) 

(4) 

129. 
?
(1) 
(2) 
(3) 1  2
(4) 

130. :-

(1)  (2) 

(3)  (4) 

131. :-
(1) 
(2) 
(3) 
(4) 


132. (A-D) :

(A) 



(B) 



(C) 



(D)  



:-

(1)  (2)  (3)  (4) 

133. 
?
(1) 
(2) 
(3) 
(4) 

        
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134. Read the following four (A-D) statements :

(A) Cranial capacity of Homo-habilis was

650-800 c.c.

(B) Cranial capacity of Homoerectus was about

900 c.c.

(C) Around two mya Australopithecus

probably lived in East African grasslands.

(D) During Ice age, Homosapiens arose

How many of the above statements are not

incorrect :-

(1) Four (2) Three (3) Two (4) One

135. The following refers to schematic representation

of oogenesis

Identify A to E correctly :-

A

B
C
D

E

(1) (A) Fetal life

 (B) Birth

 (C) Puberty

 (D) Adult reproductive life

 (E) Child hood

(2) (A) Fetal life

 (B) Birth

 (C) Child hood

 (D) Puberty

 (E) Adult reproductive life

(3) (A) Adult reproductive life

 (B) Birth

 (C) Puberty

 (D) Childhood

 (E) Fetal life

(4) (A) Birth

 (B) Childhood

 (C) Fetal life

 (D) Puberty

 (E) Adult reproductive life

134. (A-D) :-
(A)   650-800 CC



(B) 900 CC

(C) 2 



(D) 

:-

(1)  (2)  (3)  (4) 

135. 

A  E :-

A

B
C
D

E

(1) (A) 
 (B) 
 (C) 
 (D) 
 (E) 

(2) (A) 
 (B) 
 (C) 
 (D) 
 (E) 

(3) (A) 
 (B) 
 (C) 
 (D) 
 (E) 

(4) (A) 
 (B) 
 (C) 
 (D) 
 (E) 
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136.

Peak gets higher
and narrower

(a)

(b)

(c)

N
u

m
b

er
 o

f 
in

d
iv

id
u

al
s

w
it

h
 p

h
en

o
ty

p
e Phenotypes

favoured
by natural
selection

Medium-sized
individuals
are favoured

Peak shifts in
one direction

Two peaks form

How many statements are not incorrect about

above figure :-

(I) Graph (a), genetic diversity decreases with

time.

(II) Graph (b), in this type of natural selection

allele frequency continuously shift in one

direction.

(III) Graph (c), represent allopatric speciation.

(IV) Graph (b), most common type of natural

selection

(1) Two (2) One

(3) Four (4) Three

137. Identify A and B and their respective functions:-

B A

A B

(1) Trophoblast
Inner cell 
mass

Attach to the 
endometrium

Differentiated 
as embryo

(2) Trophoblast
Inner cell 

mass

Differentiated 

as embryo

Attach to the 

endometrium

(3) Mesoderm
Inner cell 

mass

Differentiated 

as embryo

Attach to the 

endometrium

(4) Ectoderm Mesoderm
Attach to the 

endometrium

Differentiated 

as embryo

A B
Function of

136.

(a)

(b)

(c)




































:-

(I)  (a), 

(II)  (b), (Allele)



(III)  (c), 

(IV)  (b), 

(1)  (2) 

(3)  (4) 

137. A  B :-

B A

A B

(1) VªksQksCykLV
buj lsy 

ekWl

xHkkZ'k; var% 

Lrj esa layXu 

gksuk

Hkzw.k esa foHksfnr gksuk

(2) VªksQksCykLV
buj lsy 

ekWl

Hkwz.k esa 

foHksfnr gksuk

xHkkZ'k; var% Lrj esa 

layXu gksuk

(3) felksMeZ
buj lsy 

ekWl

Hkwz.k esa 

foHksfnr gksuk

xHkkZ'k; var% Lrj esa 

layXu gksuk

(4) ,DVksMeZ felksMeZ
xHkkZ'k; var% 

Lrj esa layXu 
Hkwz.k esa foHksfnr gksuk

A B
dk;Z
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138.

Sugar glider

Marsupial mole

Koala

Bandicoot

Wombat Kangaroo

AUSTRALIA

Marsupial
radiation

Marsupial rat

Banded anteater

Tiger cat

Tasmanian wolf

How many statements are true about above
figure :-
(A) These are placental mammals found in

Australia
(B) This is a type of divergent evolution
(C) They show homology
(D) These animals are found only in Australia
(1) One (2) Three (3) Four (4) Two

139. Which of the following pyramid represent the

negative population growth rate : -

(A) (B) (C)

Three Patterns of Population Change

(1) A (2) B (3) C     (4) A and B

140. Darwin's theory of natural selection was fail to
explain the :-
(1) Arrival of fittest
(2) Survival of fittest
(3) Origin of species
(4) Competitions

141. Which of the following disease will be appear

by the use of device shown in figure ?

(1) Syphilis (2) AIDS

(3) PID (4) Diabetes

138.

Sugar glider

Marsupial mole

Koala

Bandicoot

Wombat Kangaroo

AUSTRALIA

Marsupial
radiation

Marsupial rat

Banded anteater

Tiger cat

Tasmanian wolf

:-

(A) 
(B) 

(C) 
(D) 
(1)  (2)  (3)  (4) 

139. 
 ?

(A) (B) (C)

Three Patterns of Population Change

(1) A (2) B (3) C       (4) A  B
140. :-

(1) 
(2) 
(3) 
(4) 

141. 
?

(1)  (2) 
(3) (PID) (4) 
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142. According to Hardy-Weinberg's equation

p2 + q2 + 2pq should be equal to :-

(1) 0 (2) 1 (3) 2 (4) 3

143. Which hormone is responsible for lactational

amenorrhoea : -

(1) Progesterone (2) Prolactin

(3) Dopamine (4) LH

144. Characteristics of primitive monkey which was

in the direction of evolution of man :-

(1) Thumb parallel to fingers

(2) 32 teeth

(3) Prehensile tail

(4) Flat nose

145. Which hormone affect the basal body

temperature?

(1) Progesterone (2) Prolactin

(3) FSH (4) HCG

146. On Galapagos island, Darwin observed

variation in beaks of birds (Darwin's finches)

and he had concluded :-

(1) Interspecies variation

(2) Intraspecies variation

(3) Natural selection according to food habit

(4) Inheritance of acquired characters

147. Dominant factors are expressed in :-

(1) Homozygous (2) Heterozygous

(3) Hemizygous (4) All

148. Connecting links are evidence for :-

(1) Chemical evolution

(2) Genetic drift

(3) Organic evolution

(4) Mutation

149. Read the following statement :-

(i) The plane of one base pair stacks over the

other in double helix

(ii) Dominance is an autonomous feature of a

gene.

(iii) Baculoviruses are belong to the genus

Nucleopolyhedrovirus.

(iv) Gene gun method is suitable for plants.

How many statements are correct.

(1) 2 (2) 3 (3) 4 (4) 1

150. Biston betularia belongs to :-

(1) Arthopoda (2) Annelida

(3) Mollusca (4) Nematoda

142. p2 + q2 + 2pq :-

(1) 0 (2) 1 (3) 2 (4) 3

143.  : -

(1)  (2) 

(3)  (4) LH

144. 
 :-
(1) 
(2) 32 
(3) 
(4) 

145. 
?
(1)  (2) 
(3) FSH (4) HCG

146. 
 :-

(1) 

(2) 

(3) 

(4) 
147. :-

(1)  (2) 
(3)  (4) 

148. :-
(1) 
(2) 
(3)  
(4) (mutation)

149. :-
(i)  


(ii) 
(iii)  


(iv) 

(1) 2 (2) 3

(3) 4 (4) 1

150. :-
(1)  (2) 
(3)  (4) 
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151. Unmodified allele produce :-

(1) Normal enzyme

(2) Less efficient enzyme

(3) Non-functional enzyme

(4) All

152. Read the following statements and select the

option which includes all the correct statements

(a) Dominance is an autonomous features of

a gene.

(b) ABO blood groups are controlled by I gene.

(c) Characters are controlled by discrete units

called factors.

(d) Drosophila complete their life cycle in about

two weeks.

Option :-

(1) Statements (b), (c) and (d)

(2) Statements (a), (b)

(3) Statements (c), (d)

(4) Statements (a), (b), (c) and (d)

153. Alleles are :-

(1) Slightly different forms of the different gene

(2) Slightly different forms of the same gene

(3) Slightly different forms of the different

character

(4) More than one options are correct

154. Given Diagram represents :-

(1) Segregation

(2) Dominance

(3) Independent assortment

(4) Linkage

151. :-
(1) 
(2) 
(3) 
(4) 

152. 



(a) 
(b) ABO I- 
(c) 


(d) 



:-

(1) (b), (c)  (d)

(2) (a), (b)

(3) (c), (d)

(4) (a), (b), (c)  (d)

153. :-

(1) 

(2) 

(3) 

(4) 

154. :-

(1) 
(2) 
(3) 
(4) 

Time Management is Life Management
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155. Which of the following character in pea plant

express only in homozygous condition :-

(1) Green seed colour, wrinkled seed shape

axial flower position

(2) Green seed colour, wrinkled seed shape,

yellow pod colour

(3) Green seed colour, wrinkled seed shape,

violet flower colour

(4) Yellow seed colour, wrinkled seed shape,

yellow pod colour

156. How many disorders in the list given below are

mendelian disorders :-

Haemophilia, Cystic fibrosis,  Sickle cell

anaemia, Down's syndrome, Turner's

syndrome

(1) 2 (2) 5 (3) 4 (4) 3

157. Point mutation is :-

(1) Deletion of base pair of DNA

(2) Addition of base pair of DNA

(3) Change in a single base pair of DNA

(4) More than one options are correct

158. How many pedigree symbols are not correct:-

 male  female

 female carrier for autosomal

5  five affacted offspring

 Sex unspecified  affacted female

(1) One (2) Three

(3) Two (4) Four

159. Mendel found that the reciprocal crosses

yielded identical results from that he concluded

that :-

(1) Sex plays a role in deciding the dominance

of a trait

(2) There is independent assortment of traits

(3) Sex has no influence on the dominance of

traits

(4) There is no dominance of any trait

160. How many pea plant character in the list given

below express only in the homozygous

condition. Tall, Dwarf, yellow pod colour,

Green seed colour, Terminal flower position,

Round seed, yellow seed colour, full pod

shape, Violet flower colour :-

(1) 3 (2) 4 (3) 5 (4) 6

155. 
:-
(1) 


(2)   


(3)   


(4) 


156. :-





(1) 2 (2) 5

(3) 4 (4) 3

157. :-
(1) DNA 
(2) DNA 
(3) DNA 
(4) 

158. :-
   
 

5  

   

(1)  (2) 
(3)  (4) 

159. 

:-

(1)  



(2) 

(3) 

(4) 
160. 









(1) 3 (2) 4 (3) 5 (4) 6
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161. Due to non disjunction of chromosomes during

spermatogenesis, sperms carry both sex

chromosomes (22A + xy) and some sperms do

not carry any sex chromosome (22A + O). If

these sperms fertilize normal eggs (22A + X),

what type of genetic disorders appear among

the offspring.

(1) Down's syndrome and Klinefelter's

syndrome

(2) Turner's  syndrome and Klinefelter's

syndrome

(3) Downs syndrome and Cri-du-chat

syndrome

(4) Downs syndrome and Turners syndrome

162. What is the phenotype of a fruit fly whose

genotype g+g+ vsvs (g = gray body,

vs = vestigial wings; wild type & black body

and normal wings) ?

(1) Grey body; vestigial wings

(2) Grey body; normal wings

(3) Black body; vestigial wings

(4) Black body; normal wings

163. A phenotypic ratio of 3 : 1 in the offspring of

a mating of two organisms heterozygous for a

single trait is expected where :-

(1) The allele segregate during meiosis

(2) Each allele contains two mutations

(3) The alleles are identical

(4) The alleles are incompletely dominant

164. Advantages to using the garden pea for

mendel's experiments included all listed below

except:-

(1) True-breeding varieties were scarce

(2) He could expect to observe segregation of

traits among the offspring

(3) They have relatively short generation time

(4) Sex organ of the pea are enclosed within

the flower

165. A genetic cross between two F
1
-hybrid pea

plants having yellow seeds will yield what

percent green-seeded plant in the F2-generation?

(yellow seeds are dominant to green) :-

(1) 0% (2) 25%

(3) 50% (4) 75%

161. 

(22A + xy) 



(22A + O). (22A + X)





(1) 

(2) 

(3) --

(4) 

162.      
- g+g+ vsvs (g = , vs = 
       
 ?
(1) ; 
(2) ; 
(3) ; 
(4) ; 

163. 
3 : 1 
:-
(1) 
(2) 
(3) 
(4) 

164. 

 :-

(1) 

(2) 

(3) 

(4) 

165. F
2
-

F1-
     (   
) :-
(1) 0% (2) 25%

(3) 50% (4) 75%
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166. A recessive allele 't ' is  responsible for a

condition called distonia. A man who has this

condition marries a woman who doesn't. One of

their four children has the condition. What are the

possible genotype of the man and woman ?

(1) The father is Tt, the mother is TT

(2) The father is tt, the mother is TT

(3) The father is tt, the mother is Tt

(4) Both parents are tt

167. To identify the genotype of yellow seeded pea

plants as either homozygous dominant (YY)

or heterozygous (Yy), you could do a test cross

with plants of genotype :-

(1) Y (2) y (3) yy (4) YY

168. What is a defination of Co-dominant :-

(1) A situation in which both alleles are

expressed equally.

(2) A situation in which the heterozygous

genotype results in an intermediate

characteristic.

(3) A pair of alleles that are different.

(4) A unit of heredity on a chromosome.

169. Haemophilia is a sex linked recessive trait in

humans if a father and a son are haemophilic

but the mother is normal, her genotype must

be :-

(1) XhXh (2) XHXh (3) XHXH (4) XhY

170. Which of the following statement is true for

parents of a dwarf infant ?

(1) Neither is carrier of dwarfism

(2) One parent may be a carrier, but the other

may not be

(3) Both must be dwarfism

(4) Both are carriers of dwarfism

171. Discontinuous variations are due to :-

(1) Crossing over

(2) Mutation

(3) Segregation of chromosome

(4) Independent assortment

172. In an organism has two allele for a gene that

are the same and are usually masked by another

type of allele, than the organism said to be :-

(1) heterozygous

(2) homozygous dominant

(3) genetically defective

(4) homozygous recessive

166.  't'   
  ()  


(1) Tt TT

(2) tt TT

(3) tt Tt

(4) tt
167. 

(YY) 
(Yy),  

(1) Y (2) y (3) yy (4) YY

168. :-
(1)     



(2)     



(3) 

(4) 
169. 



:-

(1) XhXh (2) XHXh (3) XHXH (4) XhY

170. 



(1) 

(2) 

(3) 

(4) 
171. :-

(1)  
(2) 
(3) 
(4) 

172. 

:-
(1) 
(2) 
(3) 
(4) 
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173. A pedigree chart shows :-

(1) The genotypic ratio of the offspring

(2) The types of gametes produced by parents

(3) The pattern of inheritance of specific gene

(4) The genotype of any parent

174. What is the principle behind the law of

independent assortment :-

(1) Characters are determined by genes

(2) Each gametes has an equal chance of

possess ei ther member of a pair of

homologous chromosome

(3) Gene on non-homologous chromosome

will be distributed randomly

(4) Gene occur in pair

175. Carriers of the colour-blindness trait include :-

(1) Men who are heterozygous for the trait

(2) Men who are homozygous for the trait

(3) Women who are heterozygous for the trait

(4) Women who are homozygous for the trait

176. Which postulate states that each gamete has an

equal chance of possessing either member of

a pair of homologous chromosomes :-

(1) Law of segregation

(2) Law of independent assortment

(3) Dominance

(4) All of the above

177. Genetic traits of pea plants are noted as

follows:-

(a) R-round, w-wrinkled

(b) Y-yellow, y-green

(c) T-Tall, t-dwarf

Which of the following is the genotype for a

a dwarf, wrinkled and yellow seeded plant.

(1) Wwyyrr (2) RrYyTt

(3) ttwwYy (4) ttWwyy

178.

The pedigree shows :-

(1) Dominant

(2) Recessive

(3) Non-dominant

(4) Sex linked recessive

173. :-
(1) 
(2) 
(3) 
(4) 

174.      
 :-

(1) 

(2) 



(3)   



(4) 
175. :-

(1) 
(2) 
(3) 
(4) 

176.  

 :-
(1) 
(2) 
(3) 
(4) 

177. 
 :-
(a) R-round, w-wrinkled

(b) Y-yellow, y-green

(c) T-Tall, t-dwarf



(1) Wwyyrr (2) RrYyTt

(3) ttwwYy (4) ttWwyy

178.

:-
(1) 
(2) 
(3) 
(4) 
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179. Which of the following factors could lead to

the variation in the offspring of asexually

reproducing organism :-

(1) Crossing over

(2) Fertilization

(3) Mutations

(4) Independent assortment

180. Which of the following gives information

about the phenotype but not the genotype ?

(1) XhY

(2) Hemophilic man

(3) Tall pea plant

(4) Female carrier for colour blindness

179. 

:-

(1)  

(2) 

(3) 

(4) 
180. 


(1) XhY

(2) 
(3) 
(4) 

Your moral duty

is to prove that  is 
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